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Section 2.9 The Hill Cipher

Due Wednesday, April 29th in Class. Do Problems 1, 2, 3, 4, and 5. To show your work you performed to complete each exercise using a Maplet, in Microsoft Word, copy and paste your Maplet window into your Microsoft Word page. On Microsoft Windows based machines, this can be accomplished by clicking on the Maplet Window to make it the front window and then pressing and holding the Ctrl Alt PrtSc keys in sequence (some machines require Function Alt PrtSc). This places the Maplet Window into the copy buffer. On Macintosh based machines, this is accomplished by clicking on the Maplet Window to make it the front window, pressing and holding the Command–Ctrl-Shift-4 keys in sequence, then pressing the space key, and then clicking the Maplet Window. This places the Maplet Window into the copy buffer. You then paste the Maple Window normally into a Microsoft Word Document. These problems can be handed in by submitting them in the WeBCT drop box.
1.  
Use the Hill cipher Maplet with key matrix 
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to encipher the message (assume multiplication of A is on the left)
SUMMER SCHOOL VACATION IS NOT TOO FAR AWAY AND SCHOOL IS ALMOST OVER.

2.
Use the Hill cipher Maplet with key matrix 
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to decipher the message (assume multiplication of A is on the left)
OPQAW QCOML EPNGZ IKMTG KIKZA XARSW RIBHW JXERC DIOKC OBCAE XKIZK OUVIU HELVE GNEIN YRXZY NYLRA E.

3.
Let A be the following 
[image: image3.wmf]5

5

´

 key matrix
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Assume multiplication of A is on the left.
a. 
Use the Hill cipher Maplet with the key matrix A defined above to encipher the message 

ABORT MISSION PROCEED WITH SECONDARY ORDERS
b. Decipher 



IOJNI PPXHC RLDJK MDRVV MTTQL LOBBA
4. 
Suppose that you intercept the ciphertext 
TLIYL DFSUR YFGIE FNIMS WBWGL EIBEV GCEAM RWRAJ 
XACKN NAN
and you know that this ciphertext was formed using a Hill cipher with some 
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 key matrix. Suppose also that you somehow know that the first several words in the corresponding plaintext are 

THE BEST MOVIE OF ALL TIME IS   
Assume multiplication of A is on the left. Use the Hill cipher breaker Maplet to decipher the remainder of the message.

5.
Suppose that you intercept the ciphertext 
NNISZ CJNXN QEBYG QQZSJ RBNRI OAZJE XHZDB NUDUP WCTNA ORQBZ CEDKE KPHOU SROTY KOGWZ INLEX IIARC JISUN HZAFW BYKTO HYCBM LGHHX UYHHA LCARP ZHYYN SLBGY J
and you know that this ciphertext was formed using a Hill cipher with some 
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 key matrix. Suppose also that you somehow know that the last words in the corresponding plaintext are 

SHOULD BE INCLUDED IN A LIST OF THE GREATEST EVER MOVIE VILLIANS OF ALL TIME 
Assume multiplication of A is on the left. Use the Hill cipher breaker Maplet to decipher the remainder of the message.
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